>
N & 0 & AF &2 8 A A
20189 = =04 LB H HHSWUSw
AN HHEsnsSH
A Hsus g4 XA
S Hsns #4dst (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s 15,805,313 14,322,932 1,482,381
= 50,000
< 25,000
Al 15,730,313
sws =4 XN& 15,763,300 14,285,300 1,478,000
= 50,000
< 25,000
Al 15,688,300
sns g4t 15,763,300 14,285,300 1,478,000
= 50,000
< 25,000
Al 15,688,300
MEEXSI HE X 4,440,000 3,000,000 1,440,000
307 21201 A 4,440,000 3,000,000 1,440,000
09 2+HAHEXS 4,440,000 3,000,000 1,440,000
OAMUHA THEXH(REIHE 20, &5)
370,000,000& 122 4,440,000
HA2SAME WEXE 295,700 295,700 0
307 glz2+ol & 295,700 295,700 0
09 2+=HAHEXS 295,700 295,700 0
OHl=d 24843 295,700,000 =14 295,700
SR A3 N 117,600 117,600 0
307 21201 A 117,600 117,600 0
09 2+=HAHEBXS 117,600 117,600 0
OYIlLd A28z 117,600, 000& 14 117,600
MNHEXSI RIIEXS X&E 10,810,000 10,810,000 0
307 gl2tol & 10,810,000 10,810,000 0
09 2HAHAEXS 10,810,000 10,810,000 0
OMYEXNESI RIEE2 N (HA &AlLS
2) 10,810,000, 000& * 14! 10,810,000
=38 HAl N (21) 100,000 62,000 38,000
= 50,000
< 25,000
Al 25,000
301 et A3z 100,000 62,000 38,000
= 50,000
= 25,000
Al 25,000
1MIIEELES 100,000 62,000 38,000
OsHEXNY 5| LEA| 100,000, 000& 14! 100,000
= 50,000
< 25,000
Al 25,000
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